W qF ATIHT g T YTHT Gea T 7 FE A qd a% 7 @red

& <. : DFTK-F-TAG areror gfedeht AT

Serial No. qﬂw a

0314881 ATHT TRTAT T

w99 : A g9 HRK | fme qurfe : 600

_10.

AGW ‘

e W BN 6 O AE, T T e gt g sy wa e s B,
mm@§mwmm,aﬁ?ﬁ mﬁﬁm%,a’rg&*aﬁuﬂmg%mﬁaaa?ﬁﬁrq |
Fuar oo @ 6 OMR SW-u5& #, 3@ s I, A =R AR e gieaswT ATEA
A, B, C 1 D ®Y, s e farer Reseft <z o ey 36 v st F i R I1Ear
#rg Iﬁ?ﬁﬁmﬁaﬁa/ﬁ@rﬁmﬁﬁaﬁﬁm-mﬁmwﬁmm' |
= e g W A # T T s # ST S
s o & | e g R sRgwafed 1 L
= e e 3 150 i (we) D i A R AQR < oA A AR - B | W7 B A AAH
sgerier i ot SRR AT A BT 8 Ve WiV H TR AR (W) fguE | T A NI A
gﬂﬁ,ﬁ%mm-mqtaiﬁamm@% |ﬁmﬁﬁmaﬁ%@%aﬁmma@%,ﬁrw
TeqeR B Fifer il ST w e o | e Wiy 3 g 9 0 8 SR LA € |
ST T T SR ST R T SR - TR g aifer A § | SR & feg g Frder 3R |
T A F A FAE | . ~
=4 U mﬁmg%m%ﬁﬁﬁmﬁ%mw-mwaﬁﬁm YE T, HATH Y
m—w%mﬁmaﬁaﬁ%mﬁmw-ﬁaﬁﬁ% I
maﬁaﬁqqﬁﬁaﬁaﬁt-mﬁnﬁ%quﬁm%wmv FTT J-TTF AU TAR I G19
% | ST ST AT e R & o o A € |
e Bt 3 Fore v, e fren! o 31T A G € |
maaﬁiaf&ng g
Wm-ﬁﬁﬁmmﬁﬂmaﬁ%mé@&mm |

(i), e e 3 forg = e 9o | GeEficar T W We 3 forg fg ¢ T T I

7 o e wwrd gg et fear Je |

mwmwwﬁwwa’”mm“““ﬁ

Note : English version of the instructions is printed on the back cover of this Booklet.



PART - A

FILL IN THE BLANKS

_ nk space and is
Directions : In this section, each of the follow1r.1g sentences has _atzlti = Ii)n e —
followed by four words. Select the word you consider most apg.roplrla
space and indicate your response on the Answer Sheet accordingly.

- As the Southwest monsoon

through most of July, flash floods

caused by the waters of the Narmada
hit Jabalpur town.

(a) lashed
) flourished
(¢) occupied
(d) dried

. Given the scale of the challenges that .

us today, our company -
proposes more viable plans for
sustainability.
(@) supports
(b) conflict

(c) confronts

vgd’)” convince

3. It is a really tough course, I am just |

worried that I won’t be able to go the

(@) way
(b) distance
(c) far

@X route

of the advancement

India has been remarkable.
(a) extent

(Y context

(c) distance

(d) syntax

al Productivity in -

5. This essay and exanﬁees
various systems for water appropria-
tion and agricultural practlces‘ edapted
by society in the arid conditions of
Rajasthan.

(a) confuses
~ (b) enhances
(c) controls
(@) explores

India has been able to successfully

its population through
family planning programmes,

- (@) sterilise

(b) stabilise
(€) stratify
(d) establish

Adolescence is the —edk VY
)
‘wherein g child ente

rs adulthood.
(a) threshold

(b) position
(¢) condition

(il)/~peri0d

- The British who tuleq
200 years were here to
India’s natural resourceg
(a) spoil
(b) implore
(c) exploit

(¢ drill

India for




9. Endangered species have a fifty per
probability  of

10. The first law of thermodynamics
states that whereas energy can be

8

12.

13.

14.

15.

cent or greater
within five years or two from
. . . 0 .

generations whichever is longer. another, it cannot be necri(;?:d i
(a) distinction destroyed. N

extinction (2) .reguced
(c) complication (b) induced
i i (c) performed

completion \@ transformed

SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled

(a), (b) and (c). Read each sentence to find out whether there is any error in any
e Answer Sheet against the corresponding

underlined part and indicate your response in th
letter, i.e., (a) or (b) or (c). If you find no error, your response should be indicated as (d).

Bread, butterand  jam common breakfast items
(a) \(})/ -
that are consumed by many households.
- © '
Ten thousand dollarsis  the prize mo
(a)
by the game show hosts.
(c)
Three hundred and sixty five
(a) |
in a calendar year. No error
(©) @
The process of removing W09
(a)
an animal is called sharing.

(©

No error
(@@
ney being\offered

(b)

No error
(d)

create up the number of days

P

1 from the body of
®)

No error
Noe“

S4)

Many people came from faraway places t0 prayed
/
(2) {@
picious day. No error
d

at the temple on the aus
©

A _ DFTK-F'TAG
3

——

.



the book on environmental issues in India,

After reading foreword of

(b)
16 (a) /
I decided to meet its author. No error
(©) (d)

The guidance from the mentors and teachers facilitated the
" @ (b)
smooth conduct of elections to the Students’ council. No errof

© &

The Principal of our school  felicitated the students in

18.
(a) &
the prize distribution ceremony.  No error
© (d)
If youwereto come to Chennai to settle down
19. ‘ - :
(@ (4
it will be the best possible decision. No error
(©) - (@
20 They had promised to delivered  the bags before mid-March

® T o

to enable us to inaugurate the shop.  No error
© @

SYNONYMS

Directions : Each item in this section consists of a sentence with an underlined word
followed by four words. Select the option that is nearest in meaning to the underlined

word and mark your response in your Answer Sheet accordingly.

21. He is always captious.

22. Geomorphologists ascertain several

@ worried wonderful facts about our earth.

(a) verify

b) passionate
®) (b) invert

(c) faultfinding () increase

(d) jovial 9) omit

DFTK-F-TAG — A 4




23. The Colonel ordered the Soldiers to
meet him in the commissary.
oflice
) field
(©) playground
(d) canteen

24. The doctor dismembered the patient’s
finger first and then cured the ailment

(a) stitched
() dissected

(9% plastered
(d) splintered

5. Mr. Kumar works as a bursar in the
sports academy.
(a) secretary
(b) accountant
(c) coach
@)’ trainer

26. His intentions are insidious.
(a) pious ‘ |
(b) inadvertent
(c) deceitful
S}L) naive

USAGE OF PAI

pair of similar sounding WO
st appropriately describes th
Answer Sheet accordingly.

Direction
are required to select the opt

the words and mark your res

and “Principle’
pelief system.
ad of an

31. ‘Principal’

(a) principal’ means

and ‘principle’ means he
educational institution

(b) ‘Principal” means head of an edu-

cational institution, and ‘princip.le’

means original sum on which

interest is charge

s : In the following questions 2
jons that mo

ponse in the

27 }'{c:u;)a(fl, for other human beings i
J!"f”}@!,‘% to the teachings of i
religions. e
(a) inconsistent
(b) peripheral
(c) inherent
@/cxislcntial

28. He com
relative zjzzw the onerous task with
(a) smooth
complex
(c) risky
(d) wearying

29. Alfred was 2 .
Middle Ages. potentze duwing, Tac
(a) Monarch
lenient
(c) liberal
(d) democrat

30. I abandoned the task due to indolence.
N difficulty
(b) laziness
(c) ugliness
(d) helplessness

RED WORDS

rds is provided. You
¢ meaning of both

() ‘Principle’ means moral rule, and
‘principal’ means head of an
educational institution.

\@/‘Pﬂncipal’ means original sum
on which interest is charged, and
‘prinéiple’ means head of an
educational institution.

A- DFTK-F-TAG



32. ‘Plane’ and ‘Plain®

(a) “Plane” means a flat surface. and
plain® means something that flies.

(b)  “Plane” means the flat surface, and
‘plain’ means not elaborate.

()" "Plane’ means something that
v flies, and ‘plain’ means flat sur-

face.

‘Plane” means not elaborate, and

(d)
‘plain’ means flat surface.

33. “Pail’ and ‘Pale’

‘Pale’ means inferior or unim-

=)
( 2 )
pI‘ESSiVC_. and ‘pa.il’ means faded.

(b) ‘Pale’ means faded or light in
shade, and ‘pail’ means inferior or

unimpressive.

f) ‘Pale’ means faded or light in
shade, and ‘pail’ means a bucket.

(d) ‘Pale’ means a bucket, and “pail’
means inferior or unimpressive.

34. ‘Metal’ and ‘Mettle’

(2) ‘Metal’ is a hard shiny material
that 1s a good conductor, and
‘mettle’ means malleable metal.

(b) ‘Metal’ is a hard shiny material
that 1s a good conductor, and
‘mettle’ means metallic sub-

stance.

DFTK-F-TAG — A

‘Metal’ means mental resilience,
and ‘mettle’ is a hard shiny

material that is a good conductor.

(©)

‘Metal’ is a hard shiny material that
is a good conductor, and ‘mettle’
means mental resilience.

(d)

35. ‘Hail’ and ‘Hale’

(a)” ‘Hail’ means pellets of frozen rain,
and ‘hale’ means wind storm

(b) ‘Hail’ means pellets of frozen rain,
and ‘hale’ means strong and

healthy

(c) ‘Hail’ means pellets of frozen rain,
and ‘hale’ means to greet with
enthusiastic approval

(d) ‘Hail’ means strong and healthy, .
and ‘hale’ means pellets of frozen

rain

36. ‘Conscious’ and ‘Conscience’

(a) ‘Conscious’ means sense of right
and wrong, and ‘conscience’
means awareness about something

(b), ‘Conscious’  means alert, and
A ‘conscience’ means presence of
mind

(c) ‘Conscious’ means intent, and
‘conscience’ means unprincipled

action

(d) ‘Conscious’ means aware, and
‘conscience’ means sense of right

and wrong



37. ‘Dissent’ and ‘Descent’

(a)

}b)

(d)

‘Dissent” means having ideas
different from general beliefs or
official position, and ‘descent’
means movement towards a lower
place

‘Dissent’” means having ideas
different from general beliefs
or official position, and ‘descent’
means being of acceptable stand-
ard

‘Dissent’” means being of ac-
ceptable standard, and ‘descent’
means movement towards a
lower place

‘Dissent’ means being of ac-
ceptable standard, and ‘descent’
means ideas different from gen-
eral beliefs or official position

38. ‘Devise’ and ‘Device’

@

(b)

‘Device’ means to determine, and
‘devise’ means a piece of equip-
ment meant for accomplishing a
specific task.

‘Device’ means finding a new way
to do something, and ‘devise’
means to determine

(c)/ ‘Device’ means a piece of equip-

(d)

ment meant for accomplishing a
specific task, and ‘devise’ means
finding a new way to do something

‘Device’ means finding a new way
to do something, and ‘devise’
means a piece of equipment meant
for accomplishing a specific task.

39. ‘Discrete’ and ‘Discreet’

(a)“Discrete’ means separate and

)

©

@

distinct categories of objects, and
‘discreet’ means misuse of autho-

rity

‘Discrete’ means separate and
distinct categories of objects, and
‘discreet’ means maintaining con-
fidentiality

‘Discrete’ means being careful in
what one says or does, and
‘discreet’ means separate and
distinct categories of objects

‘Discrete’ means misuse of autho-
rity and ‘discreet’ means being
careful in what one says or does

40. "Eminent’ and ‘Imminent’

(a)

(b)

7

(d)

‘Eminent’ means important and
famous, and ‘imminent’ means
something about to happen

‘Eminent’ means something un-
pleasant about to happen, and
‘imminent’ means important and
famous person

‘Eminent’ means important and
famous person, and ‘imminent’
means inherent or existing within

‘Eminent’ means inherent oOr
existing within, and ‘imminent’
means something about to happen

A - DFTK-F-TAG
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(a) 1:0A
(b) 0:5A
(c) 027 A
(d) 0-7A
54, Ty forega =t 1 aTom srEgE EETE:
fr am e g ?
(a) STaewed
(b) eTEeA
(©) frret

(d) T

.

55, g, 1.5 mee § 3R s guf whifes
¥ % i feR W A FHAE W %
T Tl § | WA SO R gAaw
TS H1 B A iR Wi Stae
Tfuﬁrﬁa%@@;?

(a) 050 m
(b) 035 m
© 075m
(d 025 m

SG'WW%‘RWWW

o = S S w ¥ = 9
fafr g 2

(@) dferm
(b Yfefraw
(©

(d) feax



PART - B

. ght beaInS coming

is said to
n through trees i .
from the zestcd that light travels 10

straight line. The particles on the path

of light beams are Vi ible to us because

(s) dust particles in the air reflect
light into our eyes

(b) Aust particles in the air scafter
light into our eyes

(©) dust particles in the air refract
light Into our eyes

(@) dust particles in the air polariz
Light into our eyes

SL. The flash of lightning is seen before ;
ﬁ;:m thunderstorm is heard. Tt verifies -

@) sgund travels much faster than

light

(b) light travels much faster than
sound

(c) light and sound both travel with
same speed

\}d) intensity of flash of lightning is
very high dunng thunderstorm

53, The potential difference bemfeen the
two end terminals of an electric hegtc?r
is 220 V and the current through 1t 1s
0-5 A. What would .be the current
through the heater if \l\g pow{ma\
difference across the 1c-nn,u‘\uls of the
heater is reduced to 120 v?

() 1:0A

(b) 05 A
() 027 A
d) 07 A

54. The heating element in an electric iron

is usually made of

(@) Constantan

N

(b) Tungsten -

‘ \Sp’) Nichrotﬁe ..

(@) Copper

5S. \Sita, 15m high, siahds before a plane

mirror fixed on a wall to view her full

image. What should be the minimum
4
height of the Plane mirror so

can view her image fully 9 et St
- (@) 050 m |
®) 035 m
-—@sﬁf/s m
@ 025y
S6. izati !
P o 00
with a thin layer of Sy Fosting

(a) Gallium
(®)  Aluminum
(€) Zine
@)"Sih’cr

11
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(c) IHATH
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(d)

k ~
3
%
~a

0 v

60. Tt wRFRARER 7 3 ) 9w

afdt | w A g F v W

i & o W wa ¥

qﬁaﬁaa,—@ T | VI gyeNT
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@ 1%

) 5%

(©) 8%

d) 10% -

F6203(S) + 2A1(s) > 2Fe(s) + A1203 (S)

& afien 3 Rk % Pt ¥

- A T AR

(@) T freamm sffem @
REUSUE

(b) TE S TS wiwbRm R

(¢) Fe,0; it wwfer & &9 H

B

@ e ¥ f i o @



57. Which one of the following  alloys

contains a non-meta] as one of its ‘)p) i
constituent ?

(@) Brass _J i

' (b) Bronze

\(}) Amalgam |
(d) Steel (d)

58. Buckminster fullerene, which looks k
like a football, is an allotropic form of
(a) Phosphorus
(b) Sulfur

@/Carbon \ 60. The green plants in a terrestrial eco-
(d) Tin . ' . system absorbs sunlight that falls on
‘ their leaves and convert it into food
energy. The percentage of solar radia-
tion absorbed by all green plants for
the process of photosynthesis is about

59. Which one of the following graphs
correctly represents the current (I) —
voltage (V) variation for a rectangular
piece of a semiconductor wafer ? ' @ 1%

o () 5%

I ) 8%

| : @ 10%

(@)

5 il " 61. Consider the following reaction :
Fey03(s) + 2Al(s) — 2Fe(s) + ALOs(s)
Which of the following statements

about the given reaction is NOT
correct ?

(a) It is an example of displacement

reaction
(b) It is highly endothermic reaction

0 v (6) Fe,03 acts as oxidizing agent
(d) This reaction is applicable to
joining of railway tracks

®

13 A - DFTK-F-TAG



T & 9 Ry T g = w@w =
& IWR g
I =ht 1
(Temates (arfrfeam)
wiFa)
A~ = faegm 1. fifereamam
AT afiRea
B. S =1 23‘3?5
& afsrfran
C. R T&Hhe 3. I
Toemm & aifweforar
e R
P 4. feamam
D. qgfifrem
T=he e
¥ Sfam
ESINESACC D)
T
T |
A B C D
@ 3 4 2 1
® 4 2 1 3
© 3 2 4 1
@ 4 1 2 3
63. Prafafaa # ¥ fra whFa § et
arfafrar wfiea 2 7
(2) U & 9T

(b) <= ¥ w&vr = fqeaq

(¢) Tt fa faferer & g & afa
AT &1 ASROT FHEHAT

(d) 9 # #fiem fem = gen
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64. Prafafaq # & FH-d 919 T
W ogw & & fau fad sa oy
wfufsran 7t F=at ® 7
(a) arefimm
(b) ¥E
(c) hfcrmm
(d) wifeam

65. Freafafaa afafrar = frar $ifig

2HgO —A—> 2Hg + O,
Sydt afufan # Hgo, Hg R 0, %t
i e ¢
(a) 59, 3@, i\
(b) 3, 34, i
(c) &9, o, g
- (d) 3, @, A=

6. 3% St 3 e s A A Tt

flwa @w-ft & St wafr #
Tt Riferaar e w=dt € 2
(@ W@ ik =

67.

@) 7w (aredraife)



62. Match List I with List II and select the
correct answer using the code given
below the Lists :

List 1 List II
(Chemical (Reaction)
process)
A. Electrolysi . Double dis-
of water placement
_ reaction
B. Buming
of coal 2 Combination
_ reaction
s @n naléd ' \3 Decompdsi—
immersed 1 & tion reaction
copper sulphate
solution . Displacement
reaction
D. Addition of
barium chloride
solution to alu-
minium sulphate
solution
Code : o
A B C D
@ 3 4 2 1
® 4 2 1 3
S 3 2 4 1
@ 4 1 2 3

63. Which one of the following processes.
' involves chemical reaction ?

(2) Evaporation of petrol

(b) Dissolution of salt in water

(c) Storing of oxygen gas under
pressure in a gas cylinder

(dy" Burning of magnesium ribbon in
air

15

64. Which one of. the following metals

65.

66.

does NOT react with cold water to
liberate hydrogen gas ?

(a) Potassium
(b) Iron
(c) Calcium

(d) Sodium
Consider the following reaction :

2HgO __A 2Hg + O,

The respective state of HgO, Hg and
0, in the above reaction is '

(af Liquid, solid, gas
(b) Solid, solid, gas
(c) Liquid, solid, liquid
(d) Solid, liquid, gas

The two important features of sexual
reproduction in higher organisms that

~ create genetic diversity in offspring are

| (a) Mitosis-and fertilization

(b) Meiosis and fertilization

' \}9} Mitosis and binary fission

(d) Meiosis and coﬁju-gation

67. Bukaryotic cells are much more

complex as compared to prokaryotes.
Which one of the following structures
is exclusively present in a eukaryotic
cell ?

(a) Cell wall

(b) Plasma membrane
(c) Nucleic acid
\QX Mitochondria
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68. SFINRTW F Iy HA~ g T &

H Th WEEYU HRU HaU6 TA IoIH
T F WRT T 6 wqe | s 5.
Ht R e € | TR 9 s W
IUF A B ?

(a) Wb

(b) Uehied

(c) ¥R

(d) TEHITE I

69. IS H, AR F FGOT ¥ @

IS SO BT R | TR gRT

ﬁwﬁﬁaﬁ%aﬁﬂ—mm%mm‘

3K
(a) 'ﬂﬁfwﬁa@ﬁﬁm%m
- gufer (foema) o &
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() T W& T PR F wT

wferd & S § R gER s
AT B SR ®
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Faferm & s # R g R
?

70, freft I o F T o9 F,

fedios e S o EThe@ R ST

Ak dafy 31 F forg feafefea § &

SHI-8T YT IIYTH € 7

(@Wﬁmiﬁ?ﬁ%‘ﬁﬁﬁ,

3T Y RR @@ T -
(b) ToRET B wEr iR Ay I,
. gAi R wd .
(c) TVIEET i TeEar wedt g fag ST
v fRrR e

(d)gv@ﬁmaﬁtrsﬁww

QT Ted €

71. foret g7 3R AYy-wedll o o9 1 GeY,

v 3 s e,/ Rt wem S 7

(a) 5o femma
(b) AT
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(c) RN & @RA IR
(d) IR # 3fg

72. Freafem 3 & 75 A8 © A

? fored yrie wRg # e 9= wm

WIH & o fore g e ¥ 7 |

(2) Tafirer Seft-Saanart & a7 S[gem

(b) - Tl YR AT

(c) = & TFET

@) Wt R fem v AT AR
TS H oo AT

73.#&mama;aﬁﬁﬁmﬁ-rﬁgamﬁ

# ¥ F-ar wE TE T ?

© (a) With SR IT RRE & F @

St fafererar w1 sgrET o &
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(o .o we R S owRE
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68. An important cause of tooth decay
by the bacterium Streptococcus mutans
is because of their ability to attach to
teeth surface by producing slime layer
from

(a) Sugar
(b) Alcohol

oY Saliva

(d) Teichoic acid

69. In angiosperms, pollen grain germi-
nates to produce two male gametes.
Which one of the following functions
is carried out by these gametes ?

(a) Both the gametes fuse with a
single egg cell

(b) Both the gametes fuse with two
different egg cells

(c) One gamete fuses with the egg

cell and the other one eventually

degenerate - .

(d) One gamete fuses with the eg
cell and the other one fuses with a
diploid secondary nucleus

70. In a sexually reproducing organism,
which one of the following statements
is appropriate both for the parent and
offspring ?. , ,
(a) Chromosome number .increases

but DNA content remains constant
9/Both chromosome number and
DNA content remains constant

) " (c) Chromosome number decreases
but DNA content remains constant

(d) Both chromosome number and
DNA content decreases

71. Relationship between a flower and
honey-bee will help the flower for/in

(a) Faster development

y Pollination

17

(c) Quick germination of pollen
(d) Increase in size

72. Which one of the following was NOT
a way in which kings in ancient India
attempted to claim a higher status 7
(a) Identifying with a varety of

deities ‘
ssuming pompous titles
\(9)/ Imposing high taxes
(d) Conquests and annexation of terri-
tories '

73. Which one of the following statements
about the Bhakti movement is NOT
correct ?

(a) The Bhakti movement avoided
traditions that promoted diversity

(b) In northern India, the Bhakti
movement rtevolved around the
worship of Rama and Krishna

(c) ‘The Bhakti movement relied on
the devotion of God, both with
and without attributes

(@Y While Tulsidas represented the
tradition of devotion with attri-
butes, Sant Kabir followed the
path of devotion without attributes

74. The ‘Reign of Terror’ in revolutionary
~ 'France referred to
(a) Bands of revolutionaries moving
around to terrorise people who did
not participate in the revolution
by The royal forces punishing people
who participated in the revolution
Trial and beheading persons
considered enemies of the republic-
by the revolutionary tribunal

The general atmosphere of
insecurity perceived by people
after the beheading of the king

(©)

(d)
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75. In which one of the following ways did 79. Which one of the following is the

the First World War Not impact oldest era in Geological History deter-
Europe ? mining the age of various rock types ?
(a) From a continent of creditors it (a) Precambrian

turned into a continent of debtors (b) Mesozoic
(b) Soldiers came to be placed higher (c) Cenozoic

in social status than civilians
. (d) Paleozoic

A/&\HVovEE support decreased for
conservative dictatorship which ' 80. A geographical grid has :

had come into being recently
. 1. Lines that run east to west around

(@ Zwﬁo&m_ rosoE..ooo:Ema centre the globe to mark latitude
stage in the public sphere . . ,

: f 2. Lines that run north to south from

north pole to south pole indicate

76. «...the immediate ending of British rule
in India is an urgent necessity...” was a
resolution of .

longitude

Which of the statements given above
is/are correct 7

(@ lonly
- ..AS\NS&\ o

(a) Non Co-operation Movement .
() Quit India Movement

(c) Individual Movement

(d) Civil Disobedience Movement . . \ (&) Both 1 and 2
. . v ) Z&EQ 1 nor 2

77. Which one among the following pairs

of mine and mineral is NOT correctly 81. In which one of the following layers
matched ? - . " of the atmosphere all weather pheno-
(a) Bailadila - Iron.Ore , menon occur ?

(b) Zawar . Zinc (a) ‘Mesosphere

(c) Ghatsila ” Copper . @ Troposphere

(d) Kudremukh : ~ Bauxite (c) Thermosphere

(d) Stratosphere

78. Which one of the following is the usual

unit of measurement for Air Pressure 82. In which one of the following states

used in India ? ‘Roopkund’ lake is located ?
(3) Centimeter . (a) Kerala

(b) Millibar ~ (b) Manipur

(c) Milligram (c) Himachal Pradesh

(d) Milliliter (d) Uttarakhand

19 A - DFTK-F-TAG
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83.

Ram records the odometer readings of
his car for the distance covered from
2000 km at the start of his journey
and 2400 km at the end of the journey
after 8 hours. What is the average
speed of the car ?

(2) 50 km/h
(b) 60 km/h
() 70 km/h
(@ 80 km/h

Ms. Rani decides to convert her AC
generator into a DC generator. Which
one of the following she would need
to use ?’

:w& A split-ring type commutator
(b) Slip rings and brushes

{(c) A stronger magnetic moE.
(d) A rectangular wire loop

85. Ramesh cannot see distinctly og,ooﬁm,

kept beyond 2 m. This defect can be

corrected by using a lens of power
(@ +05D
Wy -05D
(c) +02D
@ -02D

86. Which of the following statements are

correct about the electrical resistance
and resistivity of a wire 7 ,
1. Both quantities depend on the area
of cross-section of the wire
2. Both depend on the temperature
3. Resistance of the wire is directly
proportional to the resistivity of
the wire
4. Resistivity of the wire is directly
/\vnovonmoa_ to the length of the
wire

21

Select the correct answer using the
code given below :

(a) 1 and 2
(b) 1 and 3
(c) 2 and3
(d) 2 and 4

87. A liquid is heated up to 2 certain

temperature. Which one of the
following situation would correspond
to the boiling of the liquid ?

(a) When atmospheric pressure be-
comes equal to the vapour
pressure

.(b) When atmospheric pressure be-

comes less than vapour pressure

A&\ When atmospheric pressure be-
" comes higher than the vapour

pressure

- . (dy When vapour pressure becomes

equal to the air pressure

88. Which one of the following is NOT

an example of organic compound ?
(a) Ammonium cyanate
(b) Marsh gas
(c) Urea
(d) . Cane sugar
r\

89. Which one of the following acid is

used by goldsmith for cleaning of gold
and silver articles ?

A& Sulphuric acid
(b) Nitric acid
/%ww\ Hydrochloric acid
(d) Phosphoric acid

A - DFTK-F-TAG
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9. What

1% fhe
ethang)

(1)1

A '
1 of Wmus  on

[
Aty
S 18 nsutyy Wwards ethang)
(b)  Ethang) turng b
confirming

ethano| nature  of

((,) Eﬂlﬂf{’lﬂl turns red Htmus o blue:
' g | : ¢,
contirming basic nature of ethano)

(d) Ethanol decolorizes

litmus
through bleaching sction

91. Which one of the following metal

is. NOT an essential component in
stainless steel 7

(a) Iron
(b) Nickel

(¢) Chromium

@')/’I"m

92. Match List | with List 1J and select the

correct answer using the ¢ode given

List
List 1 loparation
(Process) (‘S,en’;tlwd)
, Chrom#>
o, separsion o ¥ gty
' i aﬂd water
rom their WHAE 5 Centrif
jon
geparation o sl a
B. 5¢P ol |, pistilla-
crom their WA ion
ion Of Sep?”
C. sgparatf"f ol milk . (ating
cream Funﬂ"l
(o O
) Swaraﬂm‘
D pilémmu "

plant extrect 5

( nile

p € D
o O |
457

(h) 4 z . ’
(’!» /5 4 2 ]

93, Which one of e (forwing "\( 71
2 requnement fon phussrsfmissss ”
(y ¢ Ilororrf
(hy €Oy
(c) Waer
(4) O,

94, In Nowering phats, /. - %
the psent, plast. gets balved 5002
’ Seed %mérmjm
(by Fruit formaion
(c) Plower tud fomzion
(d) Pollen formation

(c) Egg—» embryo 7 242 ~
(d) Egg— seed — zygote — embryo

96, Which one of the following combize-
fions of evenis represcnis the E——
sequence  dunog reproduction
flowering plants ?
w/mk —» fruit; egg —» embryo;

zygote — seed; ovary = CES

Embryo — cgg; ovary — fruit;

ovule —» zygote, Zygolc = seed

(c) Ovary = fruit; zygole — €22,

embryo — ovule; seed — fruut

Egg — Zygote; Zygote — embryo;

ovule —» seed; ovary — fruit

(b)

(d)
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97.

98.

99. Which Five Ye2

I he book
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Saga of
which Ofyes
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. The Golden
ot he, history of
Oy organiza

()
(b)
(c)
(d)

lll(,( 4
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an Borde
irder Police

F¢ '
wder .Scx.unly Force

r - ‘," o

Centr;
ral Industria) Security Force

Consider th

i ¢ followin

SR % statements
rcgdrdlng Sanchi and its archacological
findings : i

1. When Sanchi was discovered in
1818, three of its four gateways
were still standing, the fourth was
Jying on the spot where it had
fallen

2. Animals depicted  at Sanchi
include elephants, horses, mon-
keys and cattle

Which of the statements given above

is/are correct 7
(a) Only 1
(b) Only 2

Motb 1 and 2
(d) Neithel { nor 2

r lan’of 'In:;i; f;:::ﬂeﬁ
on rapid industrializatlon b

process

an
(a) First Five yearl pla

 plan
(b) Sccond Five year pla
() Fifth F ,

cvcﬂ’lh

25

100,

101.

102.

¢ 4, ,," ’
( ,h/m/lim/m;y////, 4 s 7R iy
topt, Wt mpr A VY

(2) Hems Gt w7

(h) Mwiha’ Y. s
(c) Tuknrarh

() Mukur syram € ks s

R | Zad
roryd) STVT in

Comsder % ’i/%/t;/f:lz’fﬁ,
10 7 iz %
reparding the iz
nayprs Eopre /
gn Vs i

e 1rya) VTP
g t,h?f ;;/;tfrvwm part he
yAtlement
2, Tt included 0V ) teanphes
' o puilding complenes &
3’2£?$;3;myel%wﬂ \dentified 2
palacis
given 2007e

Which of the gtatements
ig/ are correct 7

(a) 1 only

(b) 2 only

(c) 1,2 and 3

(d) 1and 2 only

Which one of the following statements
is NOT correct ?

(a) Area wise Madhya Pradesh is the
fourth largest state in India
Hornbill festival is celebrated in
Nagaland

Gujarat state contribute 7-9 per
cent share to the National GDP

Telangana 1S situated in the
Deccan plateau in the central
stretch of Indian peninsula

(b)

(c)
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104. Where is Central Instingg, of Buddhis
Studies situzted 7
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Ezstern Ghgs
Wrich of the Ziven Zooye
islzecor:eq?
) 1 only
O 2 oniy
©) Both 1 a4 9
(@) Neither | ey »
TO% belt paratiel ¢ the Shiwalik
fm&.“n‘ #reams and rivers
CmNg from fhe Mountzing deponit
and
: ISI f}‘mﬁ’l&k of  rocks
(2) Tars
(b) Bhang,y
() Bhabs
(d) Khadar
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V. Sner s 2 FIiols Masicht. G f g g g
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% The Crinns,  Sgmitaanes o
By,

Com i ‘\wns Gm G o
Vanaean € g
Bt e camrans woweE  waasy Ghe
AL grem ey -
() 3 by
(5) S 266 2 onty
(€) 2 204 % onty
4) 1,2 2042
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@ Won Sp floms
W/mgmm
12877477

Weren
Weich of 1
ham’aw

S Puerage bensiay

of iy s peme
Tzn Gt of foe

eter

2, bverage densisy of wom nad 2
Teaer tuan s of te wiser

3. Mmdﬂs‘uydﬁzﬁgu“-
than ezt of Gae waer

4. Auerage density of e sy ©
equal 1o thus of the waser

Select the corect ampwer wung ©e
code given bekow -

(3) | and 2
ST 2 and 3
(¢) 2 and 4
(d) | and 4
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110. What will happen if a collection of

positive and negative charges are
passed
magnetic field whic
to the direction ©O
charges ? (Abs;i)u?e
charges are g0 .
(2) Both kind of charges will stoP

moving

-is perpendicu]ar
f motion of the
that both kind of
ing to recombine)

es and negaﬁve

(c) Positive charE®
ncgaﬁvc c
moving i

(@ Bota kind of “TCy
moving ninterTupt

at a high speed through 2 .

29

1. The motion of a particle of mass m is

described by the relation, y = uI——;- g%,
where u is the initial velocity of the
particle. The force acting on the
particle is

o ron(2)

W=mg

(c) F=m (%)

@ F=-mg

112. A block of wood (dimensions :

40 cm x 20 cm x 10 cm) is kept on 2
tabletop in three different positions:
(a)withitssideofdimensionsZOcmx
10 cm; (b) with its side of dimensions
10 cm x 40 cm; and (c) with its side
of dimensions 40 cm x20cm. The
prssmeexeﬁedbyﬂlewoodmblock
on the tabletop in these positions is
represented by P, P and F, respec-
tively. The pressure follows the trend

(a) PA>PB>PC
(®) Py<Pg<Fc

- © B =FB=Fc

@ P, <P=Fc

113. Which one of the following metals can

be extracted using carbon as reducing
agent ?

3y Zinc
(b) Silver
(c) Gold

(d) Aluminum

A — DFTK-F-TAG .
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114. Which‘ among the following is NOT
true with respect to colloidal solution ?

(a) Particles are uniformly distributed
throughout the solution

(b) Colloidal solution is homogenous
in nature

proposed by Dalton, which of the

116. As
symbol represents QhOS-

following
plmeS?

NO,

(c)

@

S¥
&S

31

117. Which among the following stalemeﬂtg
with respect to carbon s/ are correct *

1. Carbon forms the basis for all
Jiving organisms and many thing®

we us€

Select
oode given below .

(@ 1only
® 1 and 2 only

\M,Zaﬂdi&

(@ 2and 4
der the following statements :

118. Consl
1. Terracotta models of the plough
have been found at sites m
Cholistan and 2t Banawall
(Haryana).
2. There is evidence of a ploughed

field at Kahbangan associated
with the mature phase of the
Harappan civilization.

3. The ploughed field at Kahbangan
had two sets of furrows crossing
at right angles to each other
suggesting two different crops
were grown together in it

Which of the statements given above
are correct ?

() 1,2and 3

(b) 2 and 3 only

(c) 1 and 3 only

(d) None of the above

A — DFTK-F-TAG
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Y Whiely

the _:__:s_:m Bliterie (g
.2,.____:__.::..3_ Innovations
Industrigl evalutiong e

ahout  (he

during the
correet

I Mule wig e nmicknume for g
michine Invented iy 1779, that

allowed (he EpINning of slrong and
fine yam

2. Waley Frame, fnvented in 1769

by Wichard Atkwright, made |

possible (0 weave pure  cotton
clothes,

Lo Power loom, invented by Fdmund

Cantwright in 1787, could he used
1o weave any kind of materialg,

Neloct the correct answer using the
code given below :

(0) 1 and 2 only

(b) 1,2 and 3

(¢), 2 and 3 only
N

(d) 3 only

120. Who among the following is ._SQ:S
as the architect of Indian planning 7

(a) VKRV, Rao
(b) Sukhamoy Chakravarty
(c¢) P.C. Mahalanobis

(d) John Mathai

121, Which ope 7

F thss tohrwing Aspurncan
Wik Vadiss,  comuins  the
Versmal name of kKing - Ashaka ?

() Maski

Minu

(h) Bahapr
() Wairm

(4) Bahasram

122, Arrange  the foMoming  in  correc

hronologics) order

1. Charak Sambita

2, ¥harat’s Natyashasirs
3. Bangam Literasure

4. Aimadhyayi

felect the correct answy

€7 using the
code given below -

(3) 1-3_4_4

(b)y 2 -4_-1 _3
() 4-3_1_,
d)3-1_2_4

123, Which one of the following is NOT

an example of Fold Mountzin 2
(@) M. Fuji

(b) Alps

(¢) Andes

(d) Rockies

A - DFTK-F-TAG
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